
This content is not to be circulated and is only for private use. 

COURSE: B A (H) ECONOMICS, SEMESTER – 4   

PAPER: INTERMEDIATE MICROECONOMICS – II 

 

GAME THEROY  

• Nash Equilibrium:  

It is outcome of the game from where no agent or player has an incentive to 

deviate. 

o Nash equilibrium may not necessarily be pareto superior. e.g. 

Prisoner’s Dilemma 

 

 

 



Example 1: 

Battle of sexes – This game has multiple (two) nash equilibria.  

 

 

 

 

Notes: It is possible that a game may have no nash equilibrium under pure 

strategy. 

 

 

 

Example 2:  



 

 

 

This game has no nash equilibrium under pure strategy.  

However, we may find nash equilibrium under mixed strategy. (To be discussed 

in later lectures). 

 

Overall, it can be observed that it is not necessary that we will always obtain a 

nash equilibrium under pure strategy but we will always obtain nash 

equilibrium under mixed strategy regardless of the existence of nash 

equilibrium under pure strategy. 

Practice Questions: 



Find Nash Equilibrium under pure strategy. Also, check if either or both players 

have dominant strategy. 

Q.1 

 

2, 2 

 

3, 5 

 

1, -1 

 

0, 4 

 

Q.2 

 

0, 10  

 

13, 9 

 

-5, 0 

 

7, 6 

 

 



Q.3 

 

22, 52 

 

-3, 50 

 

0, 0 

 

-55, 8 

 

 

Q.4 

 

-2, 20 

 

33, -15 

 

10, -11 

 

8, 8 

 

 



Q.5 

 

20, 20 

 

5, 5 

 

1, 2 

 

0, -4 

 

 

Q.6 

 

-2, -2 

 

0, 0 

 

1, -1 

 

-5, 5 

 

 



Q.7 

 

2, 2 

 

2, 2 

 

2, 2 

 

2, 2 

 

 

Q.8 

 

20, 2 

 

3, 0 

 

1, -1 

 

0, -4 

 

 



Q.9 

 

100, 50 

 

100, 20 

 

100, 50 

 

100, 20 

 

 

Q.10 

 

100, 50 

 

100, 20 

 

50, 40 

 

50, 10 

 

Answers of these questions will be discussed in class. Note: Remaining 

advanced topics of Game Theory will be covered later.     



UNIT- 3, IMPERFECT COMPETITION 

Notes for Monopoly section. 

 



 



 



 



 



 



 


